N of reco track vs dxy N of associated (recoToSim) tracks vs dxy

N of associated (recoToSim) looper tracks vs dxy

10?

1

SONtrkwe=fwr

diter-NewERR

- E
ofsTeBOM—oTT

b

=25-20-15-10-5 0 5 10 15 20 25 05 =50-15-10 -5

10 15 20 25 095=50-15-10 5 0 5 10 15 20 25 —25-20-15-10 -5

N of reco track vs dz | N of associated (recoToSim) tracks vs dz |

[[Nofas

el oo
’ |!5!!|i|||i||!||£|||||| |Ii|||||||||i|||||||||||||||§||
1 firm 1Nk
AL DA | B R
30 -20 -10 0 10 20 30 -20 10 0 10 =30 -20 -10 0 10 20 30



	Contents
	Page 1


